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2.6.7 Pictorial representation
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Predicted by A and B together, beyond what
is predicted by A and B independently
(i.e. predicted by AxB interaction)

1007 group mean as predicted by
independent contributions of A and B
actual group mean

80 °
.
60 1 .
Blf ¢
40 - . . A2| AZHBZO
L] el
,,,,,,,, - . .
A qTB ® Al
20 - le .
° X .
°
L4 .
.

Al,B1 Al,B2  A2,B] A2,B2

SSpe = 2 N(Vag ~ Y+ (Ta =) + (Ve - V)

df g = N-1=abn-1

df, =a-1

dfg =b-1
df o g = df p xdfg =(a—-1(b-1)
Of gror = Of g —df o —ifg —df g

This illustrates a different, ‘2 x 2’ factorial ANOVA
(two factors: the first factor has 2 levels and the sec-
ond factor also has 2 levels). There are N = 24 obser-
vations (n = 6 per group) and A and B both have 2
levels, so dfia = 23, dfs = dfs = dfag = 1, and dfgor
= 20.



